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Questions 4 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each.
For each question, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4) and shade your answer on the Optical Answer

Sheet. _ (20 marks)
1 - Inthe number 87.65, the digit _- . " is in the tenths place.’
1 8
2 7
3 6
{4) 5

2 Express 7045 grams in kilograms.

(1) 7.045kg
(2) 745k

,(3') 70.45 kg
(4) 704.5kg
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In the square grid below, which line is perpendicular to FD?

1)

(@)
3
@)

AF

BC

BE

ED
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A printer can print 12 pages in 60 seconds. How long will this printer
take to print 30 pages?

(1} 24 seconds
{2) 120 seconds
(3) 126 seconds -

(4) 150 seconds

Susan baked 80 cupcakes. 56 of them were strawberry cupcakes and
the rest were chocolate cupcakes. What percentage of the cupcakes
baked were strawberry cupcakes?

(1) 24%
@ 30%
(3) 56%
@  70%

Muthu had $220. He spent 20% of his money. How much money did
he spend?

(1) $11
(2) 944
(3) $178
(4) $200

BP-752



7 In the figure below, AEC is a straight line and BC is perpendicular to

AC. AE =8 cm, BE = 10 emand BC = 7 cm.  What is the area of
triangle ABE?

{

{2)

®3)
@

28'cm?
40 om?
58 cm?

‘80 em?

Inthe square grids below, which of the following is true for the foliowing
friangles?

o=

NC
A J \\ / \
A | B C D
(1) Bisan obtuse-angled triangle,
(2)  Cisan equilateral friangle.
(3) Aand D.are isosceles triangles.
(4) BandDare right-angled triangles,

BP~753



9 In a class of 45 children, 27 are girls and the rest are boys. Whatis the
ratio of the number of boys to the number of girls?

1y 2:3
@& 3:2
@) 3:5
4 5:3

10  The figure below shows a solid formed using 1-cm cubes. What is the
volume of the solid?

(1) gom®
(2) 10om®
(3) 12em?
(4) 13 om?®
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12

-y

3

g

@

(3}
(4)

Arrange the following fractions from the smallest to the greatest,

n

(2)

(3)

(4)

of a numberis 15, What is the-number?

o
12
18

45

Smallest

1

3

al-

=~

f -

~

=
N
Py

Greatest
2
o9

U
'3
1
'3

2
7
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13

14

Find the average of the following 5 numbers.

@
(@)

(3)
{4)

24 36 44

28

35

36

140

Peter made a total of 12 800 keychains in 40 weeks.

The number of keychains he made each day from Monday to
Wednesday was twice as many as the number of keychalns he made
each day from Thursday to Friday.

He did not make any keychains on Saturdays and Sundays.

@)
3
(4)

How many keychains did he make every Friday?

32

40

46

84

BP-~756
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15 A tank contained 5.4 ¢ of water, Al the water was poured into three
emply bottles. The first bottle contained twice as much water as the
second bottle. The second bottle contained 3 times as much water as

the third bottle. How much water was there in the second bottle? -

(1) 2.70¢
(2) 1.62¢
(3) 090¢
4) 054¢
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Questions 16 to 20 cary 1 mark each. Write your answers in the spaces
provided. For questions which require units, give your answars in the units

stated. (8 marks)

16 - Find the value of (87 ~ 3 x 7} +6~(2+2)

Ans:

17 Findthe value of 3+ 8. Express your answer as a decimal.

Ans;

BP-~759
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18  In the figure below, AOC and BOE are straight lines. ZAOE = 31° and

~#DOE =90°. Find £COD.

Ans:

19  XYZis atrangle. £XYZ=84"and ZYZX = 43°. Find ZLZXY.

Ans;




BP-~761

20 What is the missing number in the box?

[]:9=54:81

Ans:

Questions 21 to 30 carry 2 marks each. Show y'o‘ur working cl'early ang write -
your answers in the spaces Pprovided. For questions which require units, give
yaur answers in the units stated. {20 marks)

21 A cuboid of height 15 ¢m has'a square base of 6 cm, What is the
volume of the cubaid?

A

15 cm

6cm

Ans: cmd

2 5
22 Whatis the product of -_; and PP 2

Express your answer as a fraction in the simplest form,

Ans:




BR-~762

3
23 Ahmad bought 4 bottles of oil. Each bottle contained Z litres of oil,

3
He then used TE litres of oil. How many litres of cil had Ahmad ieft?

Ans: i

24 In the figure below, ABCD is a parallelogram.  ZABC = 62° .
Find /DAB.

62°

Ans:




25 Atinof paint costs $24.50. Steve needs to buy 7 tins of paint, but he

is short of $5.  How much money does Steve have?

Ans: §

26 A factory produced some toys. Al the toys were placed into boxes of
65 with no left over. There were 396 'such‘bon‘ces. Round the humber
of toys produced by the factory to the nearest thousand.

Ans:

27 Whatis the price of the backpack after & discount of 8%7?

Usuail price; $50

Ans: $

BP-~763




28 Louis built a solld using 8 unit cubes.

Top view

o
<>
B
>

g

Front view . . Side view

X7
=y

=0

Draw the front view and the side view of the solid on the grids below.

Front view Side view

- . . . . » L] - . - ] - - . - . .

BP-~764
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29  Arectangle is made up of 4 triangles E, F, G and H, The area of triangle
F is 3 times the area of triangle H.  The area of triangle H is 12 cm.
What is the area of the rectangle?

Ans: . .cm?

30  Atfirst, the-average number of coins owned by a group of boys was 7.

A new boy who owned 63 coins joined the group and the new average
number of coins owned by the boys became 11.
How many boys were there at firsi?

Ans:

End of Paper
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Questions 1 to 5 camy 2 marks each. ~Show your workif_xg clearly and write
your answers in the spaces provided. For questions which require (nits, give
your-answers in the units stated. (10 marks)

1 2
1 Mr Tan used 25 t of water on Monday. He used 3-5- { of water on

Tuesday. How much water did Mr

an use on both days? Give your

answer as a mixed number in the simplest form; - _

Ans: 4

o . -
2 Sandy jogged 45 km each day Ias’tiweek. What was the total
distance she jogged from Wednesday to Saturday last week? Give

your answer as a mixed number in the simplest form.

Ans; km

3 The average mass of 6 girls and 1 boyis 47 kg. The average mass of
the girls is 45 kg.  ‘What is the mass of the boy?

Ans: kg

BP-767
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4 ACD is a right-angled triangle. <£ADC =90". BD=CD.

Find ZADB.
A
B
12t
D C

Ans:




Meili has a roll of ribbon to give to a group of friends. if she gives 0.7m
of ribbon to each of her friands, she will have 0 4 m of ribbon left. |f she

gives 0.8 m of ribbon to each of her friends, she wij be'shortof 0.3 mof

ribbon. What is the length of the roll of ribbon Meili has?

Ans; m

BP~769




For questions 6§ to 17, show your working clea
spaces provided. The number of marks avai
the end of each question or part-question.

rly and write your answers in the
|able is shown in brackets [ ] at
(45 marks)

6 The line graph below shows the amount of mo

week over a period of 4 weeks.

80

Amount 64

saved

% a2
16

0

(2)

(b)

(c)

L SR

Week 1 Week 2 Week 3

In which week did Liling save twice the amount of money she saved
in Week 37 '

Ans: {a) Week 1]

How much did Liling save in Week 47

Ans: (b) [1]

How much less money did Liling save in Week 1 than in Week 27

Ans: (o) . (1]

ney Liling saved each

BP-770



Two apples cost $0.30 more than a pear,
than each apple.

altogether?

The pear costs $0.45 more
How much will 2 such pears and 1 such apple cost

Ans: , _ 13] '

Atfirst, Mary had 60 erasers and 85 pencils. After she gave away some
erasers and 20% of the pencils, she had a {otal of 118 erasers and
pencils left. How many erasers did Mary give away?

Ans; [31

BP-771
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Lines PQ and QR are drawn on a square grid inside a box.

By joining dots on the grid with straight lines,

(a) draw a trapezium PQRS such that PQ is parallel to SR and SR is
twice the length of PQ.
1

(b) draw a rhombus QRYZ such that it does not overiap with

trapezium PQRS.
[2}

BP~772



10 A bag contained some green balls and some yellow bails in the ratio
4111, The number of green balls in the bag is 180,

(a) How many yellow balls are there in the bag?

Ans: (a} (1]
(b) Mrs Singh added some red bails info the bag.
Each of the statements below s either true, false or nof possibie to

tell from the information given. For each statement, put a tick ( V)
to indicate your answer,

| T T Not
Statement True | Faise | possible
1o tel

The total niumber of balls in the bag is
[ 645, .
[Th’e ratio of the number of red balls to |
the nuimber of green baljg is-3: 8. _
After Mrs Singh packed the yellow
balls equally into 3 boxes, the humber
of yellow balls in each box is Jess than
the number of green balls in the bag. _[

[2]

BP-773
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2 ‘
Sam read 35 pages more than 7 of his storybook. There were 175

pages left to be read.

(a) What was the total number of pages in his storybook?

Ans: {(a) (3]

(b) How many pages did Sam read?

Ans: (b) (11
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12 Kevinhad a pafl containing 6500 mi of water. He poured water from the

pail into an empty rectangular container-measuring 15 ¢m by 10 ¢m by

5
8 cm until the rectangular container was 6—'-—ﬁlred with water.

15 ¢m

(a) Find the volume of water Kevin poured into the rectangular
container.

Ans: (a) (1]

(b) The remaining amount of waterleft in the pail was then poured into

| emply identical bottles. Each bottle was filled to the brm. The
capacily of each bottle was 575 mi. How many such bottles were
completely filled with water?

Ans: (b) _ {3}

BP-775
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A factory worker packed 880 marbles into four boxes, A, B, C and D.
Box A had the greatest number of marbles and Box D had the least
number of marbles. The diffarence in the number of marbles between
Box A and the number of marbles in the other three boxes were 14, 114
and 312.

(a) Find the difference in the number of marbles between Box B and
Box C.

Ans: (a) (1]

(b) How many marbles were there in Box D?

Ans: (b} _ .

10

BR-776



14 The outline of figure ABDEHG below is formed by a squére, & rectangle
and 2 triangles, BCD, GJE and GFC are siraight lines. EG

=13 cm,
FG=12cm, HJ=3emand BC =CD=5¢m.
(8) Find the area of triangte GHE.
Ans: (a) . [1]
(b) Find the area of figure ABDEHG.
Ans: (b) [3]

11

BP-777
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15  In1the figure below, ABCD is a rhombus. AE =CD and £ADC=68°.

(a) Find ZDAC.

Ans: (a) 111

{b) Find ZCAE.

Ans. (b) 3]

12



16 Atap was turned on to fil an empty 68-litre tank.
the tank completely.

5

It took 8 minutes to fil

il
[
T ‘ F—
1 "
'/?"'__"-_A 'L-.--‘—---‘u-—,—., - e
68-litre
tank

700-litre tank

{a) Whatwas the rate of flow of water from the tap inlitres per minute?

Ans: (a) _ e [2]

(b} The same tap was used to fil an empty 700-litre tank and was

tumed off after 75 minutes. How much more water was needed to
completely fill the 700-litre. tank?

Ans: (b) , (3

13
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17  Eric uses grey squares and white squares {o form figures that follow a
pattern as shown below.

0w M

Figure Figure Figure Ft
1 2 3 '

Figure
4 -5

(a) The table below shows the number of grey squares and white
squares for the first five figures. Complete the table for Figure 6.

Figure Number | 1 2 3 4 | 5 6 ‘
Number of grey 5 > 1 2 | s 6
squares ‘
Number of white 71 4 | a 4 9 J
squares
| Total humber of i
Scuares 1 3 | 6 | 1015 \
Kl
{b) Find the number of white squares in Figure 10.
Ans: (b} 2]
(¢) Find the fotal number of squares in Figure 77.
Ans: (c) . {2}

End of Paper

14

BP-780
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In Iite Equare grid beiow, wich fne is perpendleular to FD?
—

h
{2
&
)

BE

o] |

-

—
"1

]
F 0 Loge]
X

()

BP~783

“Questions 4 1o 10 catry ¢ mark sach,  Ouestions 111015 cairy 2 marks each.
For each queston, fouroplions zre given. One of lhem is the comeid answar,
Make your choice {1, 2, 3 or 4) and shace your answer on e Optical Answer
Shest. (20 marks)

1 In lhe numberET.‘lfﬁ, the digit iz In e tanths pisca.

M 8

@ 7

¢ & z)
9 5

2 Express 7005 grams b hiogrart,

) 70484g _
7 {2} 745Ky : ‘loﬂ«fj, "."DMtj
(3) T045ky
@ 7045 ke Gy
1

L] A prirder can prind 12 pages in B0 secands.  How leng will Ihls peinlar

f2kw Io prini 30 pages?

{11 24 peconds 12 poges —s 50-!

) %20 seoonds I page — -?-—;—s

(35 128-estonde s ;5:;— +)

4] 150 seconds 30?“’3' =7 30K3
=[50

€ Busan buked B0 cupcakes. 55 of them wara Strewberry cupcakas ang
the reat were chooolate cupcakes, What perceniace of the cupcalies

baked were strawbemy cupcakes?
-
() 24 55 « 10 ph
;
2 2%
@ sE% = ‘?O?: (4 )
W 7%

] Wuthu had 3270 He Fpent 20% of hie money.  How much mangy did

e spanc? T
W owr 8 20
- Ted

= ki
@ s r2. )
[ 200




In the figure below, AEC is a slight Ine ard BC Is perpendicular 1o
AC. AE = 8 e, BE = 10 cm and BC = 7 cm. Whalls Lhe area of
Irmngle ABE?

Ly
() 28 em J"—'D
2y 4oor? A Jr:;f,,fl -
{3) S6em?
) 80 7 Gy
8 In iha squam grids velow, whichi of the lotiowing is trus for the following
rangles?
N J! %
B [+ [+
. LA A
M Sisanumsa-angbd‘ﬁa;;g]a.{ﬁ 1§ 4 ﬁﬂm’ w3 )
N ok s
; ide TS
{2)  C ' an squiateral wiangle. (;&:ms it-m s
{3)  AandDare lsosceles dengles. True (_ 5)
A s
)] Bam’Dammht-ang‘u!mmha,(?\l{S;;{d_”’w 4‘“'“!:;['(
[3
h %Dfanumberism. Whal is ths pumbar?
dof X IS
M 5
3
@ Z o X y3
=%
@ 10 &
s - (”’)
12

Armnge the lollowing fracions tron The smakest to the greatest
o ——

1 2 s 2
° 7+ 3 '
4 ;
-
5 T
T 4 2 2 £\
1
(O] 3 ! T ! 7t E“l‘ Mm"‘
- =
@ 2 z 1 1 30, A E .
1 1 -
2 ' 7 10 3 ay pusarsias
{3 @ ' w T 3 WSMAle .
1 1 2 2 -
W s 5 0@ T Heate
mﬂ-ﬂﬂ-—"?j‘“‘! ot
[ 2l 20 ’
Yy
T 3
ES-{ - o= 4L
8 —;; (D,‘T—""3

BP-~784

) \n & class of 45 chixdren, 27 ate girls and Lhe rest are boye.  What i the
talip ofthe rumber 7 boys to the rumber of airie?

n
e
£)
] ]
] D)

}G -2 |8 kovs

B. r

g2
a9 38

PR R “)

10 The Nigure balow showe A sold lormed using - cubes.  What is the
Pl et

yolume of the scld?

1)
2}

) @

9o
1 em?
12 em®

13em’

_l‘-,.,r lowss —2 2

Leton Jomqar”

—2 |0
|

w4313

(%)

13 Find the average of the fallowing § pumbers.

= 1
0+JJ-%1'5L+3£-t"E'f'
oy

5

b o

= 2
-2 0

14 Peler mede B iotal o 12 800 kaychaing in 40 weeks.
The number of keychaks he made esth doy fiom Menday o
Wednesdey was twice 20 many &5 the number of keychalne he mads
each day from Thursday 1o Friday.
He gid nal make ery keychalna on Saturdays and Sundays.
How many keychalns did he make every Friday?

)
2)
@
(4}

a2

40

84

{}.-mi;: wiadad,
oo
e e
g
5
Ft:" E = 320 (Twek)
fu =3an
Ju = 303%
s po
)



15

A fank ctnisined 8.4 ¢ of water. Al the water was pored Inty 1hieg
emply bottles, The Aral bottin centsined twico s much waler as the
second botlle.  The eacond botle conlalned 3 tmes as much wiler as
the thind dottlel.  How much watsrwas there In the second bottle?

) 2701
12 te2e
@ oene
) Dsde

Ao B
(A s v S
20

L0 — 3 gy
Ea“"i D —_
iOu.= E'Lf‘i
ll,L: J'"J’ .t
{6
* 0-54

BP~785




Qlé6 7
@71 ==0125
2 =0.125%x3=0.375
Q18 Since AOC is a straight line, ZAOC = 180°
Right angle = 90°
o 180°- 90°- 31°= 59°
Q19 180° - 84° - 43° = 53°
Q20 81+9=9
54+9=6
Ans: 6
Q21 6x6x15 =540
Q22 2x5=10
7x12 =84
2 .5 -5
7 X927 T a2
Q23 4 bottles x —i— litres = 3 litres
. 3 o T ooy
3 litres - 74 litres = 2 5 litres = 2.7 litres
Q24 /. DAB + ZABC =180°
] /. DAB = 180°- 62°= 118°
Q25 $24.50 x 7 = $171.50
$171.50 - $5 = $166.50
Q26 306 x 65 = 25740
25740 = 26000
Q27

BP-786



Q28

Front view

ttaﬁi*%t‘_tt
# ¥ sy s oa
¥  JE—. pandE S S S
» ‘vmgv -
66§tt§t ¥
- * %= & -
‘l’t-?i':xl‘lf‘

 Side view
. v l
* » -
L3 » » *

Q29

12 x4 =48
48 x 2 = 96

Q30

63-7=56
11-7=4

{56+4=14

[ 14-1 = 13 (original number)

BP-~787
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Questions 1 10 § carry 2 marks bach.  Show your watking clearly and write
your answers In the speces provided.  For guestions which require unis, give
YOUr answers in the unite staled, {10 marks)

H

1 2
k] Mr Tan used ZE ¢ of water ay Monday  Me uged 3§ 1 of water gn
Tuescay. How Much water cid Mr Tan uss ao bath dave? Glve your
i answer 85 8 imixed numberin the slmplest form.
i i
’ L poa= 23 i
13 +3 [ o :

20

Aas: 5 E t

4
| 2 Sarldy[nngaut!; :.— week.  What was the total
distance she ed fram Wednasday lo Sakund Leek? Glva
) _jw Hopged | _r:dns:r ‘gxlfs v
Your answet as a mised number In the simplest form,

eed R |
Taw [ & dayr, Yory= 45
F;". N
Sk :
) AnS: fq‘k km
; -I: ‘Ni%' I
3 Tho avarnge mass af 8 gife Bnd 1 boy Is 47 kg, Tha aversge mess of !
) ., : the gine 15 45 kg Whalls lhe mass of he bay?
£ i r:bbﬂi $1x7= 325
dsx6= 170
325 _ao = &9

i

TS
i .

I }

I

4  ACDisarightangled thengle. <ADG =00", BDs<Cp, l
Find za0B. 3 Wieil has 2 rofl of ribhan lo give o & gmup of F3ha gvea 0.7 m
L l of tibbo o each of hes (ends, she wil hewelg. fane
A

oives 0.8 m of ribbon of her Glends, aho wil be fshoft 6 5.3 ot
£ 080 = £BCD : @ﬂm. Waat ia eengt M the ral of ribbon Mell hag?
3

(isascales A) o [ > 1816 | T gume

Flat 28 35Ta1 % )""’25’

i 20310, |2l {233, 2|4 danaer

Bo™ 11" = 59° . P L8 25 3234 0 @ -ﬂﬁmd
5.

[:]
ar 8 8%k = 3" 02l 0.8 6l1. 43,24 0ly3 EE )

BO°. m¥ = g2o “0-30.§ 03] l29] 37

F
| "
- qo- £2%- 28" . BTm
, e e gy ;
I
f

2

8.4m ] 5
0.8m =
Ghom 0.8, 03 Shart
, ‘T;.r,p‘;;_,-; 0.440.2=0. 7
2 ! D,E-D.‘l: 0.4
| D:-!“TO,I':'? 5.3
s s
62° [ 040 4. g "
D 4 c
1]
I
I
f
Ane: 28‘ " ! -
_
|




For questions § lo 17, show your working ciparly znd wiite youy antwera in the
spaces provided.  The nimber of marks avaflable is shown in brackels | ]at
Jnee end of each question or parl-guestion. [45 marks)

6 The line gragh bely shews the amounl of money Liing savec each
wiaak over a patled of 4 wesks. _
—_—

Amount &4 - Sy

iiflne g S e et
------- e ;
32

W-0=[b § 16 i = ] =
& mbervoll i’ & |

==Y Wosk1 ~ Week2  Weskd  Woek

{8) Inwhich weekdid Likng save wice fe amaunt of monay sha raved
in Weak 37 20kaA=40 @ e 2
5 §10

Ans (a]- Waeh, p (]

(b} Heny much did Liling save ln Week 42
H-U-= ko

Ans; {b)

%60 m

{c] How muchney it Liing save «n Week 1 lhan In Week 27
week |+ $lb Uo-1b= 24
Week 2 : &40

¥

Ans: g}

BP-790

]

7 Two apples ms@@ﬂn @ pear. Tha peer tos! $0.45 mare
ther, pach apple. much wi 2 such pears and 1 such 2pple coBt
altogetner? ~

feer

Apple I_ ‘3‘ ]
:w (3. 39

(%1% =

Costaf |apple = 0.957¢0.3

= 015

fpear= @ 15+ 45

Lz

2 pears |opple = lLix2+0 1%

Ans:

= 3.5

_ 435 0o

B A Lrst, Mary had £0 erasers and 85 pencils, After she gava BwaY s0ww

arasers and 20% cf lbe pendls, she hed & lotal of 113 erasers and
percls left, |low many arasers did Mary ghe awey?
o « "“A"Hp

I
2o/ of 5 pem.ﬂjs = 37 penils

. /5 -17T = Eé {po. of penuils (&)
118 —E5 = 50 (bo of erasery 161}

Eo—- 50 = (0

] Lines P and GR are drawn on & squom grid Instde & box.

By joining dots on the grid with sirsight Ines,

{4} drawm tra aﬂumPQHSmePﬁismﬁdeRmﬂSRiﬂ
plbaisl ooty =

Mlmthofpa "
i3] lfmwarhnmhuiﬂﬁvzmlhalidommlnvarlavwﬂh
trapaziem T et Ao | fﬂ.ﬂnu-l. @
g )

40 A hag confained some green balis and some yelow talls in the ralic
4:11. The numbes of green balls in the bag bs 180,

{8} How many yellow balls ang than in the bag?

by =180
Loraen o Yellow s 05

a5 ¢ oo 1) g xus <45
180 : bag TRTERIrTIty

= 4

”“‘ﬁﬂ)__t_"_q_gﬁ_,_h_m

{b) M Singh added some rd belis Into the bag.

Each of e stalemanis balow is efther e, false or nol puesible lo
1sk fram the inforation given.  For aach statemenl, puta bk (4)
{o indizale your angwar.

Mat |
Siatemenl True | False | possible
Lo lel
T:'bohl mber of bails in the bag Is
U)< e mimber o inthe \/
He o Ihe rismbes of red balls ko
(23| jpe amber of preen bell 153 8. v
Afler M Singh the yelow
(3 balls equally into the numbar \/
of yellow balls i eo & bask fhan
the number of green balls hk@ n i
Stadgmens } o storement 2 W&’”ER a.
{xretnbals 3 BC Red i lretn Yol brlls 3 425
efiow tath 2 445 i. ¥ P En,LhW‘-qqg(g
Talala Bo4ydy L1-5. W#Q = g
= 45 {peen ballt 3 B0
§5 ;45 BotR= 225 fog & le1 Hay WS-
i 2154 3= E1.F clapetnt 1 AP
Fiohtmbnd W dhviayS ot posgithc forall

foue .

1o moy be g wbsle o,

T
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14 Sam resd 35 sages more than ; of He sidrybook.  There were 175
Pages jefl o be read. ’

{8} Whal was the tolal number of pages in fus storybook?
35

e RAG ey
5 ‘
Ji5+35 = 0 (Suk ) -
= 2o3b
= 42
M= 1z
= 294
'_7'v ’ Ans:(s}_____j‘.ﬁn_m

.u:) How nésn} pages oid Sem rean]
2u = 422

= FY
PU+36 =g

13 A facioay worker pé&e{fﬁznarhk inlo fowr boxes, A, B, C and D.
Box A hedt lhe grestest 6r of murblas anS Box O hod the leaw
rumber of marbles:  The difforonce In the nimber af marbles botwos sy
Bax A and the numbar of marbles iy the other throe boxes wers 14, 114

and 312,
{8) Find the diflerence in tha mmber of marbles between Box B ang
Box C.
Frodett — s learf
BaxA B/e. Rfe. Boxe D
i differh -1y =4yp
14
Ans: {2) 109 [
() How many marties wera tans |
P — 4 o,
He J1%
-
SO DY I T
A I
B0t U €14+ 31, = 1320
Younitt of K =¢3520
Lkt = 32034
330-32= 1% g
Ans: (o) | "

Kevin had a gal) conlaining B60C et of water, He poyrad water fram the
—_—

pail Inio an emply reolzngular conlalner measuring 75 an by 36 em by

——ay

B &m until the rectangular conlainer was g-ﬁllarj with watey,

{a) Find ths volme of waler Kevin poured |nic Ahe rectangular

<oniziner, I
ISXinxg X = 1000
N aped -
Ans @ _ 1000 emd (o

b} The remaivgng amount of water left 4 the o5 was then poured info
emply identical baties, Encly bottle was hited (o the biltn, The
capaclly of each botlle was 575 mi, How many such boltias iwem

elely Tad wikh -
complelely whh valer?

6500 - [oapn = 5500 Eﬁwmmj)
5500+ 5752 Q.56
PSDW. estrg

/7
9 filed
boH bet

Ans: (k) ﬁ 13)

13

The ure ABDEHG bdmh[umgdbya,i@r@
and E 9C0, G ad GFE ars slralght (Fes, BG = 3 om,

Fa=1%mm, Hl=3 tmand BC s CD = 5 e,

(8) Find the ares of Idangle GHE.

$xB323: g

Ans: () (9.5 em™ 1y

b} Find the asea of figums ABD
Aea of A GFE = $a025 | M of GFE-gus

= 30 = N-1.5
fia. of 39, FCDE - Ex5 * s
= 25
heast ooy Mo tr- YarB)as
= &5
Tolel aneq =W|5‘+15+95
= {20.6 _
Ans: (b) Iio.sw"‘ )

B o

S BPeT9

TR -

P ———
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16 ABpwas luned onto fil an emply 86-lre tark. 11 ldok B minulasta il

45 'n the Agure balow, ABCD tz a hombus, AE =GDand £ADC= ae". I
i the tank completely. !
E% ' i
] H i
1
; i
S “l....---...--.--.--. }
§8-llre "' !
tank #+ 1
200-§tre 1ank l

@) Find £0AC ' .
R u) - 56 o ta} What was the rate cg;uﬁar_:aﬁerah:mlh:lapmilms pat rnirule?
(80°-63° ) 7 &£~ o '
(/;Dm:- L DR [Wosles B) +9( 3 %3 |
B g8 — | min |
i

56°

Ans: (8)

(b) Find LCAE
£ BAG = 2008 = 567
£ ADG= ZBBL = 62°
Sine AR = FE , 4o BEBE S on isosuls 4
LABE= 2 AER = 68°

= &5

e @ 8.5 win @

(b} The same lep was ussd fo B an empiy ToD-lilre tank and wae

lumed aff aRer 76 minuies.  How muc
compleloly Kl the 700-itra tank?

] 254 - | »m
¥ 5‘\C 6355 - 15 min

aler was heeded to

£ EAB = (30°-43% 6£3° 00~ £3T.5= 625
= 44’
LCAE = 567 - q_:.i,“
= 12° !
90 ans. {8} t2.50 @
Ans: (bl ! | 8
2 2
{%¥  Eric uses grey squenes and whila aquares {e form figures thal follow & @ )
paitlem as shown below, : f‘ai Il'
3
' h E NANYANG PRIMARY SCHOOL
3 E z Y : END-OF-YEAR EXANMINATION
Fygura Figure Figure Figure Figura b 2024
H 2 3 4 5
{a) The lable balow shows the number of prey squsres and whils PRIMARY 5
squarse for the first five fgures, Campiete the lable far Figuwte 6, MATHEMATICS
Foefumoer | 1 1 2 | * 1 & | 5. ¢ PAPER 2
Numivar of grey 4
atiies sFe [ edpE ] Duration: 1 hour 30 minutes
Nomberofutie | g ] 1] el Al % 90
3 1 RYCTH TC PUPILS
Towswmmbe“rd @ D @ F ;5 2 INSTRUCTIONS TD PUP
LN LY 1l . .
) 1. Do not tum over lhis page unti you are toid to do 0.
b TN om 2. Fotlow all Instrustions carofuly,
{b} Find the number of whils squnres In Figure 10. 3. Answer ol questions,
t 4. Wrile your answets In this bookdat,
Erj.i“ﬁ eivg\; -+ |_5.wTha uas of an appreved calculator is sliowed.
=5
51: a5
Aes: {B) 25 @ Name: ___Student Brs Foy - { )
() Find the falat numbsr o] squares in Figurs 77. Clasu: Primary 5 [ }
Eigunt Toto] #e.- Toted sq. i figure 17 Parent’s Signalure: Bocklet A 20
- ) 7
o 4342 £I5FT64TT Bookiet B 2
s = {T6H )% 38 papes 177
3 .1 1#1+3- Paper 2 155
y | 1Ree{lo = 3003
—- % A ) EllK 2 Totl 1100
Plopst sign and return tha sxaminetion papsr the next day. Any gueries
End of Papar shodld be raised at the same time when returming paper. B
bl




